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...:=Bending ...

Moment

w 10
kN

m
⋅:=L 10 m⋅:=I 10

8
mm

4
⋅:=E 200 GPa⋅:=Inputs ...
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M x( ) BM x Ra, Rb, Rc, Rd,( ):=Bending Moment

S x( ) Ra Rb
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...:=Shear Force ...

y 3 L⋅ Ra, Rb, Rc, Rd, θa,( ) 0.0000mm=

BM 3 L⋅ Ra, Rb, Rc, Rd,( ) 0.0000N mm⋅=y 2 L⋅ Ra, Rb, Rc, Rd, θa,( ) 0.0000mm=

Ra Rb+ Rc+ Rd+ 0.5 w⋅ L⋅− 0.0000− N=y L Ra, Rb, Rc, Rd, θa,( ) 0.0000mm=        Checks ...

Rd

w L⋅
0.02778−=Rd 2778− N=  and ...

Rc

w L⋅
0.36667=Rc 36667 N=

Rb

w L⋅
0.18333=Rb 18333 N=

Ra

w L⋅
0.02222−=Ra 2222− N=Solving gives ...

... zero BM at end of beamBM 3 L⋅ Ra, Rb, Rc, Rd,( ) 0 N⋅ mm⋅=

... vertical force equilibriumRa Rb+ Rc+ Rd+ 0.5 w⋅ L⋅− 0 N⋅=

... setting displacement at Rd to zeroy 3 L⋅ Ra, Rb, Rc, Rd, θa,( ) 0 mm⋅=

... setting displacement at Rc to zeroy 2 L⋅ Ra, Rb, Rc, Rd, θa,( ) 0 mm⋅=

... setting displacement at Rb to zeroy L Ra, Rb, Rc, Rd, θa,( ) 0 mm⋅=Given
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